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Section Number : 1

Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Id : 1525369085 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (1 to 5)

Directions (Q.No. 1 to 5) : Read the following passage and answer the questions that
follow.

Even when the government realises the importance ofa plentifinl supply of trees. 1t is difficult
for 1t to persuade the villager to see this. He wants wood to cook lus food with; and he can
earn money by making charcoal or selling wood to the townsman. He 1s usually too lazy or
too careless to plant and look after new trees. So, unless the government has a good
system of control, or can educate the people. the forests slowly disappear.

Sub questions

Question Number : 1 Question Id : 1525369086 Display Question Number : Yes Is Question
Mandatory : No

The government finds 1t difficult to make the villager realise

Options:

. % The mportance of food being cooked.

5 The value of trees

;% Thedifficulty of cutting the forest

The needs of the town dwellers
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Question Number : 2 Question Id : 1525369087 Display Question Number : Yes Is Question
Mandatory : No
The villager makes charcoal
Options:
to brush the teeth

1. %

, % 10 help his neighbours

3 {0 earm money

to pass the tune lavishly

4. %

Question Number : 3 Question Id : 1525369088 Display Question Number : Yes Is Question
Mandatory : No

The villager pays no heed to
Options:

trees
g

, % Charcoal

;5 % proper cookmg

neighbours

4. %
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Question Number : 4 Question Id : 1525369089 Display Question Number : Yes Is Question

Mandatory : No

According to the passage the government should

Options:
ban making charcoal

e

5 | punish the villager
e
3 1 helps the townsmen
3 i regulate cutting down of trees

Question Number : 5 Question Id : 1525369090 Display Question Number : Yes Is Question

Mandatory : No

The synonym of the word ‘lazy’ 1s

Options:
Careful

T, Derelict

5, x Altentive

Conscientious

Question Number : 6 Question Id : 1525369091 Display Question Number : Yes Is Question
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Mandatory : No

The 1diom “to fight tooth and nail’ means
Options:
- making every possible effort to win

to fight a loosing battle

<} to fight cowardly

to fight with a woman
4, %

Question Number : 7 Question Id : 1525369092 Display Question Number : Yes Is Question
Mandatory : No

[ saw a boy red hawr. Fill m the blank with correct preposition.

Options:

with
3. ¢

m
4, %

Question Number : 8 Question Id : 1525369093 Display Question Number : Yes Is Question

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Mandatory : No

An example for the Interrogative sentence is

Options:

He 1s a bad listener

1.%

What a surprise!

2. %

5« When did you see him

Shunt the door

4, %

Question Number : 9 Question Id : 1525369094 Display Question Number : Yes Is Question

Mandatory : No

Pick out the most suitable word to complete the sentence.
1s a person who walks is sleep.

Options:

% Omniscient

Orientalist

2. %

Parasite

i Sonmambulhst

-
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Question Number : 10 Question Id : 1525369095 Display Question Number : Yes Is Question

Mandatory : No

Fill m the blank with appropriate verb form.
I a letter a few minutes ago.

Options:
;% have received

5 o recerved

receive

will receive

Question Number : 11 Question Id : 1525369096 Display Question Number : Yes Is Question
Mandatory : No

Ramesh 1s an mgenious writer.
The meaning of the underlined word is

Options:
poor

1%

mechanical

foolish

skillful
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Question Number : 12 Question Id : 1525369097 Display Question Number : Yes Is Question

Mandatory : No

“When did you see him?” The sentence is
Options:
Interrogative

F.
ot

5 [mperative

Assertive

3, ™

Exclamatory

Question Number : 13 Question Id : 1525369098 Display Question Number : Yes Is Question
Mandatory : No

‘Open the door”. The passive voice of the sentence 1s
Options:
The door be opened

1. "

Let the door be opened
2.

The door was opened

: The door 1s opened by someone
4.
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Question Number : 14 Question Id : 1525369099 Display Question Number : Yes Is Question

Mandatory : No

My mother always food for us.

Options:
Cook

1s cooked
Cookmg

Cooks

Question Number : 15 Question Id : 1525369100 Display Question Number : Yes Is Question

Mandatory : No
The teacher said. “What 1s you name?”. The reported speech of the sentence is
Options:
The teacher said that what myv name 1is

| P

The teacher asked me to tell my name
2, %

The teacher asked me what my name was
3.V

The teacher enquired my name
4. %
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Question Number : 16 Question Id : 1525369101 Display Question Number : Yes Is Question

Mandatory : No

i o8 | you. I would not have committed this blunder.

Options:

was

are

Were
3. ¥

15

Question Number : 17 Question Id : 1525369102 Display Question Number : Yes Is Question

Mandatory : No
If 1t ramns, the game will be

Options:

Cancelling

1. %

i Cancelled

, » Cancels

Cancel
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Question Number : 18 Question Id : 1525369103 Display Question Number : Yes Is Question

Mandatory : No

What are you talking ? Fill n the blank.

Options:

on

1n

about

4 % upon

Question Number : 19 Question Id : 1525369104 Display Question Number : Yes Is Question
Mandatory : No

He drove the car at sixty kilometers hour.

Options:

T

Question Number : 20 Question Id : 1525369105 Display Question Number : Yes Is Question
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Mandatory : No

Rama is cleverer than all other boys in the class. The positive degree statement of the
seftence 1s

Options:

No other boy in the class is as clever as Rama
P 4

Rama 1s the cleverest boy m the class
2. %

All other boys m the class are cleverer as Rama
3, %

No other boy i the class 1s cleverer than Rama
4, %

Question Number : 21 Question Id : 1525369106 Display Question Number : Yes Is Question

Mandatory : No

Identity the grammatically correct sentence.

Options:

v One must love one’s parents

One must love his parents

2. %

Priva 1s more taller than her sister
3, %

She is my cousin sister
4, %
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Question Number : 22 Question Id : 1525369107 Display Question Number : Yes Is Question

Mandatory : No
My mother goes to the Cinema Once in a blue moon. The underlined idiom means.

Options:

on a full moon day

_, anevent that happens mfrequently
2. ¢ -

TE the day of ellipse

. once m a fortnight
4.

Question Number : 23 Question Id : 1525369108 Display Question Number : Yes Is Question

Mandatory : No

The weather has been abominable all week.

Options:

. Pleasant
Cold

Hot

i Unpleasant
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Question Number : 24 Question Id : 1525369109 Display Question Number : Yes Is Question

Mandatory : No

My son was disobedient and so I punished him.
The simple sentence for this sentence 1s

Options:

1. %

My son received punishment and I found him disobedient

2,

I punished my son for his disobedience

3.V

I punished my son as he 1s very disobedient

My son’s punishment by me was due to his disobedient nature.

4, ®

Question Number : 25 Question Id : 1525369110 Display Question Number : Yes Is Question

Mandatory : No

She met an accident. while she

Options:

~ had crossed
1. %

1S Crossing
2, %

was Ccrossing
3.9

4 » Crossed

therod. Fill m the blank.
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General Knowledge

Section Id : 152536302
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 26 Question Id : 1525369111 Display Question Number : Yes Is Question
Mandatory : No

What 1s the full form of ABC as per the National Educational Policy-2020?
80 edeeo 2020 (8o D H & Y JYBoYEW?
Options:

Academic Basic Certificate
Doy ARG 0T §HS JBaw

‘| e
Annual Basic Certificate
ROIBBE T°EL HX J(S@
2. %
Annual Bank Certificate
iy RONEBE 08 FHS SSSw
Academic Bank of Credit
Qo DRAGDH ol HBHS
4. v o
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Question Number : 27 Question Id : 1525369112 Display Question Number : Yes Is Question

Mandatory : No

The new name of mmistry of Human Resources Development is
5 £ = Y AL - ‘s'\
S0 SvBe @@%@ 0B Ty D) (F°8»
Options:

Mmustry of Higher Education
a)S Aoy oGS T

Mimstry of Human Capital
PN OB oGBS T

Mmustry of Education

5 QT Lo@S T

Mimstry of Human Development
S8 @f&ée}g 0SS TP

Question Number : 28 Question Id : 1525369113 Display Question Number : Yes Is Question

Mandatory : No

Who among the following transformed the Shivaji and Ganapthi festivals into national
festvals?

208 06° D5 B2, Ko adold B adarer PO’
Options :

1
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Bal Gangadhar Tilak

e ROl &8

Veer Savarkar

DE 56,5
2. %
Swamu Dayananda Saraswathi
| R Sasmson $6K:6
3. 3
M G Rande
oo & BIE
4, %

Question Number : 29 Question Id : 1525369114 Display Question Number : Yes Is Question

Mandatory : No

‘Black Fungus’ 1s also called as
2B HoifR’ & HOFD0E D
Options:
Taemasis

EQA5TD

Mucor mycosis
SooeeeeB E2H

2. -

Cutaneous candidiasis

’éo;é@dﬁ:fz Bo8ETHD
3, %
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Blasto mycosis
TR DD

Question Number : 30 Question Id : 1525369115 Display Question Number : Yes Is Question

Mandatory : No
Which of'the following is a Directive Principle relating to Education?
BoBRE° 28 D& Jonofodd a8y Krgo?
Options:
Article 40
40 & (HEBBe

1. %

Article 42

42 $ ($%5e3
2=

Article 45

L, 455 (3550

Article 48
48 & (HEBes

Question Number : 31 Question Id : 1525369116 Display Question Number : Yes Is Question
Mandatory : No

Who 1s the author of * Anomalies m Law and Justice™?

‘0D B85 o wob au%“fa ES5008 S5%?

Options:
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Justice Ramana

;. wf}gﬁ 83069

Justice Raveendran

2D 8D
2. ™

Rawvi Sankar Prasad
5DI0E0 (SH

3, %

Justice S.K.Kaul

.5, |
B0 0DR.B.8°S
4.% ©

Question Number : 32 Question Id : 1525369117 Display Question Number : Yes Is Question

Mandatory : No

Which ofthe followmg Country is called as ‘Land of Midnight Sun’?
Bod T0&° 5@@3\ “erol ©F DHEIT IQ” @R BenFS?

Options:
Fmland
SRero&

1. %

Norway
e

2. =
[celand

, x S0ee08
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Sudan

ey )

Question Number : 33 Question Id : 1525369118 Display Question Number : Yes Is Question
Mandatory : No

Which of the following state had more than 90 percent of schools online facility?
80 3D @ T° E&oé" 90 80 pre FETeE 8PS FL0 Loik?

Options:
Guyarat
- Duoes
‘| e
Dellu
. &d
2, % 2
Uttar Pradesh
: egﬁ@c':%é
Kerala
g [=le} -]

Question Number : 34 Question Id : 1525369119 Display Question Number : Yes Is Question
Mandatory : No

Joseph Robinette Biden is

£°30 8938 TS

Options:

| P
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45™ President of U.S.A
45 S 050.090. & Slafgchla®

46™ President of U.S.A

46 X 050.09R. ) LD
2. ¥ A SR

47" President of U.S.A

L. 473 a.008.0 e

48™ President of U.S.A

o 483 00.098.0 o

Question Number : 35 Question Id : 1525369120 Display Question Number : Yes Is Question
Mandatory : No

The World Population Day is celebrated on

B8 SoBSBsm [BHol wmrer BT E)DE0 2dHBHI S

Options:
10™ July
10, =8
1. % =
11% July
11, 228
2. ¢
3. %
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14™ July

14, 22=8
W

10™ December

10. &2028

Question Number : 36 Question Id : 1525369121 Display Question Number : Yes Is Question

Mandatory : No

The Central Information Commission is a

2ol S5 ERS

Options:
Constitutional Body

Teo3= 00 Q&0
1. % v

Statutory Body

TR 08 &
2. ¢ -

Neither Constitutional or Statutory

TPl Q&S T, BN D80S S
3. %

Central Bureau of Investigation Body

 Tol& HBE°SE Do
4, %

Question Number : 37 Question Id : 1525369122 Display Question Number : Yes Is Question
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How many ‘Sustamable Development Goals’ were mtroduced i September 20157
08, 2015 Soi & A TS oo egred (Hésrdomd?

BF
0
Options:

08

1%

16
2, %

17
3. v

18

Question Number : 38 Question Id : 1525369123 Display Question Number : Yes Is Question

Mandatory : No

Which of the following disease is not caused by Bacteria?
Bod =0&° D 068 wé&cfm 8 =o%0?

Options:
Tuberculosis
g8 %eron

1. % %

Tetams

> % S8R
Rabbies
o995

3.¢v

4, ®
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@

Question Number : 39 Question Id : 1525369124 Display Question Number : Yes Is Question

Mandatory : No

Total number of medals won by India in Tokyo Olympics 2021

es"é,; 20028y 2021 &° gr8gaEo ROAY Fwndo Jdsre Sogy

Options:

Question Number : 40 Question Id : 1525369125 Display Question Number : Yes Is Question
Mandatory : No

Presently the new name of Telugu Academy of A.P.
o BH3E TR @Reso Be0id osEd ) (578 2
Options:

Sanskrit Academy

QDO S BT
% v
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Andhra Pradesh Telugu Academy
oSN Benid ©E

Telugu and Sanskrit Academy
Bt B S0, S ==t

J
3.¢

Telugu and Sahitya Academy

e S8 %&*é& Dlesgnt b

4, ®

Teaching Aptitude
Section Id : 152536303
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10

Enable Mark as Answered Mark for Review and

Clear Response :

Yes

Question Number : 41 Question Id : 1525369126 Display Question Number : Yes Is Question

Mandatory : No

The mam aim of teaching is to
558 Go¥) (Seed SREb00E
Options:

Give notes to the students
Do ST athoh%
' ] O -

1%

-
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Prepare the students to pass i the examimations
Doy Boemd $58EeS® adlerviy ScirHTab

Prepare the students for jobs
3}::':36;.3@%63 a:SS;rF@ £°5% SairdRaing

Develop thinking ability m the students

Deoed® ot Sod8 @ﬁé&&: Do
4. . . @

Question Number : 42 Question Id : 1525369127 Display Question Number : Yes Is Question
Mandatory : No

To reduce absenteeism m the class. the teacher.
SE8KBKBE 8):::263@ Dozesdodd é@oézéﬁa &%‘@50‘533&
Options:

Should teach effectively

S $H8Sodore oo
1. ¥

Should 1ignore absenteeism
Doeesdord HBKBoSERFSEo

Should punish students
&)m*gééezé: BEoSito

Should inform parents
$DBo|he DR
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Question Number : 43 Question Id : 1525369128 Display Question Number : Yes Is Question
Mandatory : No

If a student 1s quarrelsome in the class. the teacher should
2.X &ngg e elat o 5&:5?%&@5 ﬁ%‘tp‘gdiwci:

Options:

Inform Police
D0 BOCHEAHSBL

1.%

Inform the head master

& ST errrdind BOcHESHSBH

Gives suitable counseling

i 808 HBD® Ho(Frso BeHSBH

Gives punishment

- @8 32058
4. % &R

Question Number : 44 Question Id : 1525369129 Display Question Number : Yes Is Question

Mandatory : No

Apt learner is one who
@F&Eé a—:*q:';é:‘ocﬁ: DS80E

Options:
listens mterestingly to the teachings of teachers
aapedine: Bay) dhcsre il DI

1.%
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spends lot oftune m the library
Nomreocihos® &}fo;éé SEOLovL ) K& Do

has questioning attitude
o 5808 588 Beoarik

prepares well for the examination

, DOED wrre RS TpEd
=

Question Number : 45 Question Id : 1525369130 Display Question Number : Yes Is Question
Mandatory : No

The most appropriate meaning of learning is
©5rdT08 JBFHS &agﬁo&oéﬁ

Options:
Inculcation of knowledge
s
TR

1. %

Modification of behaviour

BIBHS® 780
i.%

Personal adjustment

L B S
3" jia

Acquisition of skills
SeTge ‘éﬁa’m%‘gé
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Question Number : 46 Question Id : 1525369131 Display Question Number : Yes Is Question

Mandatory : No
For which purpose achievement tests are conumonly used?
TFEE ‘656;@?63 TS0 & a@%;ogs TETE?
Options:

To make selections for a specific job
SEEDS A& 8 Jodh¥ BohwRE

1. %
To select candidates for different courses
LAl ?6{}@& @9:‘@6@@& Noh¥ TohoeQl
2. %
To identify strengths and weaknesses of students.
. i Do pere HBAD voiE¥de HBoSER8
To 1dentify the amount of learning
ChreSt c?gc.on‘.‘} gololelalgdle
4.

Question Number : 47 Question Id : 1525369132 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is the highest level of cognitive ability?
Si2od TEE” DB AHEBY SoRE FYrEo?

Options:

Knowing
BeDDE"oW
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Understandmg
e THE DL

Analyzing
D0
3, ®

Evaluatmg

SoeerEro X850
4. e

Question Number : 48 Question Id : 1525369133 Display Question Number : Yes Is Question

Mandatory : No

A good teacher 1s one who
SN EDS BT 5808

Options:
gives useful mformation
SHETH D8 SErTTR) ST

1. %

explains basic concepts to students

5 % °RE ordded BothaT®

gives printed notes to students

Do o) vond S ah T
3. % ©o - o e

mspires students to leamn

SEE° SR8 Aapgeriaiy ABaOEDHTE
4.9
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Question Number : 49 Question Id : 1525369134 Display Question Number : Yes Is Question

Mandatory : No
‘Operation Black Board" is concerned with

SHORS :?E'*‘E‘o B8 $02080958.

Options:
Pre - Primary Education
eSS E Dy

1. %
Primary Education
ages-dote! oy

2.v

Secondary Education
L e dnd D&
3. % < -
Higher Education
as D&
4, %

Question Number : 50 Question Id : 1525369135 Display Question Number : Yes Is Question

Mandatory : No

[farequired teachmg aid is not avatlable m your school then what you will do?
©SH8DS BETFHEnsn & bred® Thol A3D IH?

Options:
Inform the students about the non- availability of the aid
Dot SES HEEntn BK0 B0DEH

1. %

2.9
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Bring the aid from nearby school
eﬁr‘ééﬁs &l FdTeod ﬁéﬁéﬁéw?&& 3

Ask the headmaster to purchase the aid

SPEF L% c~Q) EHR @’:Qvﬁs&t;‘;o‘:’m@& e

3™

Give the oral description of the aid

SETFHEEsn Kol STh%omr BB
4, &

Mathematics

SectionId: 152536304
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 51 Question Id : 1525369136 Display Question Number : Yes Is Question
Mandatory : No

AnIntegrating factor of the differential equation (1+ x) @ _ wy=l-x15

dx
. dy o K Skl
oS%el $¥8mo (14+x)——xy=1-x % o SSr¥ed Hno
dx
Options:
(1+x)e*
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1+ x

e
2.V
o
1+ x
3, %
|
e (1+x)
e

Question Number : 52 Question Id : 1525369137 Display Question Number : Yes Is Question
Mandatory : No

Roots of the auxiliary equation of £(D)=3D* +16D+5 are

£(D)=3D" +16D +5 To¥) $&FaH¥ $o%8emod Hresoen

Options:
1
s e
3
1.%
1
aly
2. % -
5 2
3. ¥ 2
=3, —3
4, ®
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Question Number : 53 Question Id : 1525369138 Display Question Number : Yes Is Question

Mandatory : No

L oN oM .
The Integrating factor of — ———=Mg(y) is
CX cy

cN cM ) »
———=Mg(y) Go¥) S&rEes Hera¥sn

ox oy
Options:
[2() v
f.
Ig(nr) dx
€
2 ™
|
My
3.% T
1
Nx
4, %

Question Number : 54 Question Id : 1525369139 Display Question Number : Yes Is Question
Mandatory : No
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. N dv .
The linear equationinu of == _ vy = x243 is

dx
d...lll .2 3 o rﬁ,{v“' s s
S ——xy=x"y° D% dEHrd $Edeo
dx %
Options:
du 3
— Xy =—y
dx
1. ®
du
—+uy=y
dy
2. % '
du 3
— Uy =—y
dy
3.¢
du 3
——uy=y
4. % %

Question Number : 55 Question Id : 1525369140 Display Question Number : Yes Is Question
Mandatory : No

. _— .
The solution 4 = transforms the equation — + Py = Qy" mnto
1’J*'.'ml dx
l - dy n :
U =—— ($8ZSe0 oo e OV Gk raroddo
v X
Options:
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dut

—+(1-n)Py=(1-n)Q

w O
_(if_{ +(1-n)Pu=(1-n)Q

dx

2.
du
X

3. %
du
4, ® dl‘

—+m—-D)Pu=(n-1)Q

—+(n+1)Pu=(n-1)Q0

Question Number : 56 Question Id : 1525369141 Display Question Number : Yes Is Question

Mandatory : No

: 2
The general solutionof y=xp+p~.p=

_'iS

Goo¥) B TS

2
y=xp+p,.p=
Options:
5
y=cx+c
LY
2
y=ayte
2.
‘ C
V= >
(1+x)
3. %
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y=x+1

Question Number : 57 Question Id : 1525369142 Display Question Number : Yes Is Question
Mandatory : No

Wronskian of the function y, (x) =& @"D¥, 3, (x) = @ *

y1(x) =90 5 (x) = 9PV (ST otre Bk ooSREHS

L

Options:
e™(2ia)
1. %
e*™ (2 ib)
2. %

2ax; ~
e 24D
- ( )

Question Number : 58 Question Id : 1525369143 Display Question Number : Yes Is Question
Mandatory : No

. s + . - J 2 2
In integrating factor of the differential equation y “dx+(x" —xy—y~) dy=0
1’1'2fi’.1‘+('.‘f2 “1'_1’__1‘2) =0 oi%edodh H%dmno ci:aﬁ; .5 DBl foedan

Options:
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2 . 3
yx“+y7)
1. %
2
*1‘
;
e |
2. % R
1‘1
3 9
3. % X )
1

Question Number : 59 Question Id : 1525369144 Display Question Number : Yes Is Question
Mandatory : No

: S : : dy v 0l
A solution of the differential equation —+-—=x"y" 18
ax X
dy y 2.6
——+==XTY o%bed SQo¥dndn G ol P
o X
Options:
5x 315+cl Xy’ =2
1%

2

g |
5x°y° +q X7y =
3, %
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D .1‘_1*4 +o x Yy =2
4, %

Question Number : 60 Question Id : 1525369145 Display Question Number : Yes Is Question

Mandatory : No

1
(D+szm2f‘

Options:
¥
1. % 4
X
2.4
5
x
i |
3. % -
X
2
4, %

Question Number : 61 Question Id : 1525369146 Display Question Number : Yes Is Question
Mandatory : No

SIN 2x =

jp g0 ) W

Options:

PR

»
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—Smm2x

2cosdx+sm2x

2. %
sin2x 3cos2x
16 20
3, %
cos2x 3smn2x
20 20
4, &

Question Number : 62 Question Id : 1525369147 Display Question Number : Yes Is Question

Mandatory : No

The particular integral of (D —4D?)y =5 is

(D3 ._4D2)‘1= =5 &%) @’"ﬁ;ﬁ SrEed

Options:
5
—g
1. ® 8
i
8
2. %
5 >
== i
. 8
3. ™

-

—
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Question Number : 63 Question Id : 1525369148 Display Question Number : Yes Is Question
Mandatory : No

N
D +D¥lL

Options:

3 2
¥ 4+3x 46

1 %
3 2
X" —=3x"+6
2.
2 =
X " +3x+8
3, %
s
4 % X +3x+6

Question Number : 64 Question Id : 1525369149 Display Question Number : Yes Is Question
Mandatory : No

. . ~ 2 "
Particular integral of (D“ —-3D+2)y=¢" is
(D> -3D+2)y=¢" @) (38 Ssrtel

Options:

el

1. 8

collegedunia:s
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2. %
xe"
3. %
.
g 8

Question Number : 65 Question Id : 1525369150 Display Question Number : Yes Is Question

Mandatory : No
2

y=Xx1isa si::;huaiml*::rfnr—%-!-qL P & +0Oy=01f
dx“ ax
d_'1IL+P£+QT:O So%) FES ¥ = X seoreod
dx - dx -
Options:
1 P+0=0
- P+0Ox=0
2. ¥
3 % P+O+1=0
y =0
4, %

Question Number : 66 Question Id : 1525369151 Display Question Number : Yes Is Question
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dy . —— .
If y=0 and —=4 when x=0, then the solution of the differential equation

d
.
dy . dy :
—~=2—+J5y=01
dy-  dx
" dy " &'y dy
x=0 oonsgtd y=0, = =4 ewd, ekl F¥dmwo —--2—+5y=0 %)
dx v dx
Aty
Options:
y =2e” sin 2x
1
2 i
y=e"" sin2x
2. %

R
y=2e"" sinx

y=e sin2xy
4. %

Question Number : 67 Question Id : 1525369152 Display Question Number : Yes Is Question
Mandatory : No

, . . e 8RB
The general solution of the differential equation V™ +x d— = ’ﬂd— 18
X X
2 7 (h‘ dl‘ " :
VX — =21 ool dE8n0 @) Ferbe S5
dx dx .
Options:
2
2 =

1. % ‘
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gt =

2. ¢ y
1

et =0

3. % :
X

_ e =CVy

4, ® '

Question Number : 68 Question Id : 1525369153 Display Question Number : Yes Is Question

Mandatory : No

2

The solution of the differential equation d—: +4y =0 satisfying
dx”

1(0)=1 (0)=-1is

1(0)=1 1/(0)=-1 o §L%63 s +hy =0 ebes SDsno S
dx”

&

Options:

¥ =—C0s 2x+sin 2x

—3 .
y =—CO0S 2.1‘-75111 2x

i 5
y=—C08 2x— 5 Sin 2x

—

4, &
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-
¥y =CO0S 2x ——Sin 2x
—

Question Number : 69 Question Id : 1525369154 Display Question Number : Yes Is Question
Mandatory : No

When y(0)=-1 y'(0)=3, if y= f(x)e™* + 4¢" is the solution of the differential

equation

A’y dy 3
——4—43y=4¢"" then f(1)+ A=

T ]

y(0)=-1,1'(0)=3 ©ow&ded, v=f(x)e" +e" w36 wskes $dobmo

d*y .dy - s
e +J11'=4€31§é‘=¢5?6 oond f(l)+4=
dy-  dx ‘
Options:
0
1. %8
3
2. %
1
3.¢
2
4, %

Question Number : 70 Question Id : 1525369155 Display Question Number : Yes Is Question
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dy s
The solution of the differential equation 2xy d_ = 3% = 2x° when y(1)=2 18

v
; (h )
P(1) = 2 ooniiiith, oSl $8o%8m0 2xy d_ =y _2¢ oﬁaﬁ FES
A

Options:
% <com
YAX =I3X
=8
.
y? 4+ =5x
2.V
2
y2 +x=5x
3. %
y+x=3x
4. %

Question Number : 71 Question Id : 1525369156 Display Question Number : Yes Is Question

Mandatory : No

The perpendicular distance of (3. —4. 1) tothe plane x+ y-z+7=018
x+y-2+7=0 808 (3. -4. 1) Bo¥) wondirdsn

Options:
5
1, ¢ ﬁ
3
2, % \/E

[ ]
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iy

3, =

£
5

Question Number : 72 Question Id : 1525369157 Display Question Number : Yes Is Question

Mandatory : No

If the plane x+2y-kz+
4.3 thenk is

v+2y-kz+3=0 S0
Options:
3
2
1. ®
3
2
2.V
2
3
3. %
2
: 3
4, %

3=0 15 perpendicular to the lme whose direction ratios are 2.

2.4, 38505 %0 Bu vonore @0l k ded

-_—

-
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Question Number : 73 Question Id : 1525369158 Display Question Number : Yes Is Question

Mandatory : No

Ifthe equation 2v” — y* + 22%  y= + 52y + vy = O represents a pair of planes, then the

angle between them is

7 . 2 - \
%% 1 4227 —yz 4+ 5mv+ 1y = 0 S80%8m0 Both e SR o8 S s
' . 4 —-—

g

Options:
1. *
T
)
2. "
T
3
3.+
T
. 4
4, %

Question Number : 74 Question Id : 1525369159 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane through (2. -3. 1) and normal to the lne joining of (3. 4. - 1)
and (2,-1.5)1s
(2, -3, 1) Dotbosd thom e (3.4, —1) 8w (2,—1, 5) o Zev B vonsorr

Ko S0t @) SdESH
"]

Options:
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x+5y—6z=0

xX+35y—6z=-19
3.

x=35y—6z=-19
4, %

Question Number : 75 Question Id : 1525369160 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane through the origin and contamning the Ime

¥-3y+2:+43=3x-y+22-51

Sro o) wrosfer x-3y+2:+3=3x-y+2:-5 B 4008 Sein Gt
S%Beasin

Options:

1@ 1x=9y+82=0

1%+39y—8z=0

2. %
 Ix+9y=<8z=0
3..%
- Jx-9y—-8z=0
4, %

Question Number : 76 Question Id : 1525369161 Display Question Number : Yes Is Question
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The length of the shortest distance between the lines

X+3 y+I z-6 x—=3 y-8 2-3
— —r . = = A= ].S
-3 2 4 3 -1 l

x+3 y+7 z-6 x-3 .14'—-8_:'—3_55 Kisss Bist
% B AR A4 TRy

I

Question Number : 77 Question Id : 1525369162 Display Question Number : Yes Is Question
Mandatory : No

The shortest distance betweenthelines x=-2y=zix=y=z 18
x=-2y=zx=y=: X6 Ope B LG &rdkw

Options:
~
" J
1. 8
4
%"
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Question Number : 78 Question Id : 1525369163 Display Question Number : Yes Is Question

Mandatory : No

y 2 2 2
Centre of the sphere 2x* +2y° + 2=

7

2 2 -
2x" 42y +22° =x+ y+2 0¥ Solsw

Options:
(111‘]
3 3 3.

1, 8 :
{lii]

Lo \4 44
ll_q
T8 4

3. %
V.1

4, ®

Question Number : 79 Question Id : 1525369164 Display Question Number : Yes Is Question

Mandatory : No

Equation of the sphere with centre origin and radius 2 1s

-l ~ -
e Hodohe Boskn S8k q&gm 2 o °F S&hEdmsn

-

el
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Options:

2 2
¥+ y +z7+xy+yz+2x=0
1. %
g, 2
X+ vy +z27=0
2. %
2 2 P,
X" +y +z"=2
3, %
. 5
x> +yt+zt =4
4, v '

Question Number : 80 Question Id : 1525369165 Display Question Number : Yes Is Question

Mandatory : No

. ; . ; 4
General solution of the differential equation v +xp=x"p

s

-

S

.
OS%0N PvESmo y+ap=x'p [P

Options:
2
X=¢cx+cC'y
1. %
2
., Xy=cx+c
2. ‘
2
Xy=c+cy
3.V

-
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y=€2+CX"
4.%

Question Number : 81 Question Id : 1525369166 Display Question Number : Yes Is Question
Mandatory : No

The particular solution of the differential equation

:
dy dy

X" ——-2x—+2y=x
dx’ dx

 cos x(x>0)is y=

S
. 2d7y dy i
e dd¥dmo X —:}—Exd++2y =x° cosx(x > 0) 8 (5% F&S v =
dx” X < -

Options:

XSy
—XSInY
XCOS X

—XCOSX
4.

Question Number : 82 Question Id : 1525369167 Display Question Number : Yes Is Question
Mandatory : No

g2 5F : 2 3 3 .
Theradmsofthe crcle x™ + y™ +27 +2x -2y +-42-19=0, x+2y+2:+7=01
2 7 2
%ém YAy 4+ 20-2y+-4:-19=0, x+2y+2:+7=0 m&;q&»gm
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Options:

2
1.8 <
3
2. v
4
3, %
-
4, %

Question Number : 83 Question Id : 1525369168 Display Question Number : Yes Is Question
Mandatory : No

Every section ofa right circular cone by any plane perpendicular to its axis is

HG S8 dogos) T (BT 60 Sosn ogrod vvonorr &P

Options:
a cone
2.5 Sognd)
1. %
a sphere
-~ £
, % o8 Reg S
acircle
28 Qe
3. ¢ o
a plane
2% oo
4, %
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Question Number : 84 Question Id : 1525369169 Display Question Number : Yes Is Question
Mandatory : No

The radms of the circular cylnder having for its base the circle
» BN o

5850 egrborm DAK $e dmilin @Y, eI
: -

® U

Question Number : 85 Question Id : 1525369170 Display Question Number : Yes Is Question
Mandatory : No

. , . . dx dy dz
The general solution of the differential equation —=——=—1s
2y X yX
. dx dy dz
©HEel B0 — =——=—— & P&

Options:

. 5
X +yV =¢q, j'3 +2° = Cr
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- 3 3
X +y +2 =G, X +y +2 =0
2. %
2 2 3
x> =y —z" =, X =y —Z =€
3. % v
5 .3 33
X —y=¢, Yy -z =0y
4. .

Question Number : 86 Question Id : 1525369171 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane passing through the mtersection of the planes
Tx+y-2z=1L 3x+y+2z=35 and perpendicular to the plane x-2y+:z-1=01
S Tr+y-2z=11 3x+y+2:=5 © o How e x-2y+2-1=0
$erRE vomorr &f) dwo $80%8%0

Options:

X+y+z=3

2, %

=3
3, %

Iy =Dz —
4w 2X722=3

Question Number : 87 Question Id : 1525369172 Display Question Number : Yes Is Question
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Number of subgroups of the group (Zg;.+¢3) 18
(Zg3.+93) V5orssn Coo¥) addSrddne Sogy
Options:

. v 4

2. %

Question Number : 88 Question Id : 1525369173 Display Question Number : Yes Is Question
Mandatory : No

(- n
The generators ofthe group G={—:n¢e Z} are
7

]

V@i G=Xx—:ne’/ o‘:‘wﬁé 23 SoreXSnen
7

Options:

L2
6

[ ]
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Question Number : 89 Question Id : 1525369174 Display Question Number : Yes Is Question
Mandatory : No

If a group 1s abelian. then ¥ a.b
2% $Homesn DHS oonddptH Va.b
Options:
.
. u '@ b) “=ab
2 Y 22
(ab)" =a b
2.V
2 2
(ab) =a”
3, % |
2 2
ab): =h*
5 i (ab)

Question Number : 90 Question Id : 1525369175 Display Question Number : Yes Is Question

Mandatory : No

If Gisafinitegroup of order n. thenfor a G
58 Lo G Bwk) Kok n ok B8 aeG %

<

[ ]
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Options:

Question Number : 91 Question Id : 1525369176 Display Question Number : Yes Is Question

Mandatory : No

Let Hbe a subgroup ofa group G such that 0(G) = 36 and 0(H) =4 . Then 0(G/H ) =
0(G)=36 8w O(H)=4 ® "*;a?' $Gorrdin G 68 Hal edoon adssms

oo, et 0(G/H)=

Options:
1. ?
2. ® 12
24
D™
36
4, ®

[ ]
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Question Number : 92 Question Id : 1525369177 Display Question Number : Yes Is Question

Mandatory : No

Options:
=,
1. %
9
2.V 5=
L =3
3.
3
4, =

Question Number : 93 Question Id : 1525369178 Display Question Number : Yes Is Question

Mandatory : No

The number of automorphismofthe group Z; 1s

Z g S0P EnE™R Srdd

Options:
. N
Do 2
.1
.=
. 2
3.V 7
)
) [
& ™

i " '\! L
o:-:.é:ae.a; Srdéde Jo X

-
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Question Number : 94 Question Id : 1525369179 Display Question Number : Yes Is Question

Mandatory : No
(G.+¢) 1s a finite abelian group of order

BE JHDOHS s (G, +4) T (XS

&A

Options:
2

1 &
.

> A
5

3. %
4. .

Question Number : 95 Question Id : 1525369180 Display Question Number : Yes Is Question

Mandatory : No
The orderof 9in Z;5 18

Zy, 0 9 G (Eos»

Options:

>,

1. % B

2. 4

<
3. %
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Question Number : 96 Question Id : 1525369181 Display Question Number : Yes Is Question

Mandatory : No

o . , wd pul 2o
The point of intersection of the line * L_Y=2_2-3 andthe plane

l -1 2

x+2y-z=51s
$8&0 ) LB e x+2y-z="5 doo © pokd Lo
] | 2

I
9
L

Options:

(1,2.0)

1. %

(2.0, —3)
(3.1, 1)

., (3.1

Question Number : 97 Question Id : 1525369182 Display Question Number : Yes Is Question
Mandatory : No

If f=(2341) isapermutationofdegree 5. then 7~ =
f=(2341) 2.8 5 88158 (HF8sn0 oowdHpd 7 =

Options:

[ ]
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o
p—
)
)

4)

Question Number : 98 Question Id : 1525369183 Display Question Number : Yes Is Question

Mandatory : No

The number of generators of a cyclic group of order 8 1s
8 (Kosiorr Ko SBo%h Skumesesn Sol) 8% Sreste Jogy

Options:
7
LR =
3
i
3.9 4
. i
4, %

Question Number : 99 Question Id : 1525369184 Display Question Number : Yes Is Question

Mandatory : No

-
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The number of even permutations in 0(S)=4 i1s
0(S) =4 Boo¥) 98 (drBswe bogy

Options:

12
.V

Question Number : 100 Question Id : 1525369185 Display Question Number : Yes Is Question
Mandatory : No

A cyclic group having only one generator is
28 2.8 ¥ Sreddn ¥0A8 SiBcdh Do

Options:
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Question Number : 101 Question Id : 1525369186 Display Question Number : Yes Is Question
Mandatory : No

The radius of the great circle of the sphere x* + v + 2% —4x+10y—6z-11=0 is

o x” +.1‘2 b2 ~4x+10y-62-11=0 GnZ) 1% & F%‘go

v

Options:

7
1.+

Question Number : 102 Question Id : 1525369187 Display Question Number : Yes Is Question
Mandatory : No

I
Fora>0.b>0 lm {—][

=30 \ X

/ b ~1] :\: -
_1-_"}0+ \ ,\’ J a

a>0.b>0ex% lim

Options:

2

L

2. %

[ ]
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Question Number : 103 Question Id : 1525369188 Display Question Number : Yes Is Question
Mandatory : No

. X ¥
Im ——=
X—>0C ) i

Options:
1.% %
2.% 0
3.+ :

o

4. %

Question Number : 104 Question Id : 1525369189 Display Question Number : Yes Is Question
Mandatory : No

1 .
f(x)= has infinite discontinuity at
X—48
T l -’ i ) ” i
S8 JS(x)= — o588 QYRS EOA towod
. _1‘— [
Options:
. i
1. %
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2. »

XxX=4a
3.¢
4. w X =L

Question Number : 105 Question Id : 1525369190 Display Question Number : Yes Is Question
Mandatory : No

The directiveof f(x)=x",x>01s
f(x) =x", x>0 G oD

Options:

o i (1+logx)x

, o & log x)x"

1+logx

4 logx

Question Number : 106 Question Id : 1525369191 Display Question Number : Yes Is Question
Mandatory : No

| am b
: = : diverges to
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1.

> &
2. %
L 2
3, %
s% 0

Question Number : 107 Question Id : 1525369192 Display Question Number : Yes Is Question

Mandatory : No
1 \ X
lim | 1+—

n—o\ '

Options:
e
1%
e’
2.%
: -
3. =
g
4, %

Question Number : 108 Question Id : 1525369193 Display Question Number : Yes Is Question

Mandatory : No
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& ar.*+1

X 3
Ifa,=—.n=1 x%0_ then 1M
I n—x a,
n a
X : n+l
a, =—.n 21, x # 0 ©onS3pH lim
1 n—>® a,
Options:
1. % v
¢
2, %
|
3. %
av ¥

Question Number : 109 Question Id : 1525369194 Display Question Number : Yes Is Question
Mandatory : No

g

. : . . . dy dy LB
If the particular solution of the differential equation —--8—+9y=8smn5x 1

dv-
y=Acos5x+ BsinSx. then 29(24+B) =
- d*y dy ‘ g B
edtel Sofbmo —-—8——+9y=8smx8 y=4c0s5x+ BsinSx ¥ Selel
dy=  dx A
cond 29(24+B)=
Options:
8
1.¢
- 6
2, ®
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.10
4. %

Question Number : 110 Question Id : 1525369195 Display Question Number : Yes Is Question
Mandatory : No

In Taylor theorem. the Lagrange’s form of remainder 1s
Bob vrrodine™ Brrod Erediin @wY) B0e8e5
Options:

a H'J(*H ((__)

1. % "

(b—a)f"(c)

2. % H

(b-a)" f"(c)

n'!

3. ¢

f"(c)

n!

Question Number : 111 Question Id : 1525369196 Display Question Number : Yes Is Question

Mandatory : No
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The value of ‘c’ from Cauchy’s mean value theorem for f(x) = Jx and

|
3(-"'):$ iﬂ[mb](){a{b 18

) =¥ 260 8(1)= [ab]omb [0.5]0<a<b & St simer
Rezosin o6 " @) deod

Options:
ab

1.8

Question Number : 112 Question Id : 1525369197 Display Question Number : Yes Is Question
Mandatory : No

If the function f(x) r +—1) 0 < x <1 satisfies Rolle’s theorem, then the value of
(W

J (x)=x*(x*~1).0<x <] (Hahokn 6% Moel B B epth ¢ o)
Denad
Options:

X
2

[ ]
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I-Jlr-ut

1
2
3. %
.
V2
4. ¢

Question Number : 113 Question Id : 1525369198 Display Question Number : Yes Is Question
Mandatory : No

1
J- xe dx=
0

Options:

Question Number : 114 Question Id : 1525369199 Display Question Number : Yes Is Question
Mandatory : No
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Norm of the partition P= {0, .25, .75. 1. 1.5. 1.75, 2} 1s
P=10, .25,.75,1, 1.5. 1.75, 2} &grticn G mgé

Options:

0

Question Number : 115 Question Id : 1525369200 Display Question Number : Yes Is Question
Mandatory : No

Ifthe spheres x* + y* + 2% —2x—4y+6z-3=0 and
Vot 4 zf I T ky —8z—4 =0 cut each other orthogonally. thenk =
Few x” -|-+1-'2 +2° ~2x—4y+6z-3 =080

2 2 2 2
2" +2y° +22" —dx+hy-82-4=0 I83¥0 vonore pokohEol, k=

Options:
o« —14
2.8 —13
3. % =
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Question Number : 116 Question Id : 1525369201 Display Question Number : Yes Is Question
Mandatory : No

The pole of the plane 2x -3y +4z -8 =0 withrespect to the sphere iyt 2 =16
5
o x’ +.1'2 £ =16 as&a& 00 2r-3y+4:-8=0 @) Ko

Options:

Question Number : 117 Question Id : 1525369202 Display Question Number : Yes Is Question
Mandatory : No

7 dj 7 1 )
IfD7y= Y then =(x"—x+Z)=
dx” 1+ D"
. Ay ] .
D‘z_r= : LN s, = (1‘2—1‘4'2):
dx~ 1+ D~

Options:

3 &
s x X —X +2x

[ ]
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X" +x-2
L

7 |

Question Number : 118 Question Id : 1525369203 Display Question Number : Yes Is Question
Mandatory : No

Boolean ring characteristic 1s

200N S Secho S TEDES

Options:
¥
- A
3
2, ™
3% ?
4, = 4

Question Number : 119 Question Id : 1525369204 Display Question Number : Yes Is Question
Mandatory : No

Number of zero divisions in the ring ( Z;,.+.¢)1s

(£, 1) S0chod™R Erdrracte Sogy

o
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Options:

5
1. %
2.0 7
30 2

11
4. %

Question Number : 120 Question Id : 1525369205 Display Question Number : Yes Is Question
Mandatory : No

. . 2 ‘o
IfRisarmgsuchthat ¢ =a. Vae R.then a+a =

S : = = .
Sodhod®a” =a. Va € R odiytiy ol olpih a+a=

Options:
. a
1. *
, % 2a
1
3. "
4, v v

Question Number : 121 Question Id : 1525369206 Display Question Number : Yes Is Question
Mandatory : No
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The equation of the cone with vertex at (1, 1, 0) and guiding curve ¥+ ‘1*2 =4 =18

(11,088 80 HBotw +* 47" =4, z=13 S0 7983 o (guiding curve) rv

Ko Sowd %8m0
Options:

2 . 2 A

X" +y -2z 42yz4+422x-2x-2y—-4z+2=0
4

$ . 9 2 A

X" +y =2z+2yz 4+ 22x—4x—4y+4=0
2. % ' ‘ ‘

TR R T i SO, FNNR, T 0

X“+y +2z" -2z -2zx+2x-2y+4z-2=0
3. % '

2 2 2

X +y +2z2°+2yz—2z2x+4x—-4y+4=0
4, %

Question Number : 122 Question Id : 1525369207 Display Question Number : Yes Is Question
Mandatory : No

Number of associates of @+ inthe Gaussian integral domain is
PRODS eerol ($BE0ER a+ib T Sibe Sogy
Options:

1. % 1

-2

2. %
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Question Number : 123 Question Id : 1525369208 Display Question Number : Yes Is Question
Mandatory : No

Let G be a group of order 40 and @ € G suchthat 0(a) =8. then 0(¢*) =
28 Sariro @) 86158 4058w a€G & 0(a)=8 eowd ((a™)=
Options:

8

1. %

12

Question Number : 124 Question Id : 1525369209 Display Question Number : Yes Is Question
Mandatory : No

The units of (Z4.+4.X¢) are

(Zg. +6- X) o S5omRE5,

Options:
L 2
:
k2
2. %

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



4,

Question Number : 125 Question Id : 1525369210 Display Question Number : Yes Is Question
Mandatory : No

[fa bmary operation *" is defined on the set 7, ofall mtegers by m*n = m +n -5 forall
m,n € Z , then the mverse of 7" m the group (Z.*) 18

Fgocef)f) $é 7ok o) 388 7 &, @6 mnelds m*n=m+n-5r

Options:

-
D

1.¢

17

h

12

Question Number : 126 Question Id : 1525369211 Display Question Number : Yes Is Question
Mandatory : No

The characteristic of thering Z;, x Z;5 18

x v £ B
Zyg X Zy5 Sod0 Dok orEnis

Options:
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Question Number : 127 Question Id : 1525369212 Display Question Number : Yes Is Question
Mandatory : No

The equation of the right circular cylinder whose guiding curve is the circle passing

through the pomts (1. 0, 0). (0, 1.0) and (0. 0, 1) 15

Dotsyen (1,0,0). (0. 1,0) &8k (0,0, 1) how &b o mgaé (%o (guiding

W

curve) e Ho eow @idd Sre S8o%8e0
[

Options:
2 2 2
. u XHYTE +xy+yz+2x+1=0
) 2 2
X" +y I —Xp—ya—x-A=
5 & %) Xy —yz—2x—1=0
g = ‘2
X +y +z2 +xy+yz4+ax-1=0
3, =
. .
XY I =Ry -y -2+l =10
4% : =

Question Number : 128 Question Id : 1525369213 Display Question Number : Yes Is Question
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Mandatory : No

If f =xy’7 +2x"yz j —3yz" k . then div f at(l, —1,1)is

f=xyii +2x%y2 7 -3y=" k oo (1, -1, 1) 5 div f Qeod

Options:

Question Number : 129 Question Id : 1525369214 Display Question Number : Yes Is Question
Mandatory : No

Let G be the group of 4™ roots of unity under multipication and f is the group

homomorphism from the group (Z. +) to the group by f(n)=(i)" forall nZ . then
ker F =

S0 (G.1)% o8 $osmid [, (36 nel, f(n)=(i)"m V&I, ker F=

o

Options:
47
3Z

2. %

3. %
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Question Number : 130 Question Id : 1525369215 Display Question Number : Yes Is Question
Mandatory : No

If the permutation (1 3 5) 0(1 3 7 5) 0(6 8) 0(2 3 4 5) in the group (S5.0) can be
expressed as a product of n disjomt cycles, thenn =

i)

50 (S5,0) 6% @280 135)0(1375)0(68) 0(2 34 5) R Dkt 8w eyorr

-

| o

L2V

Options:

1. ® I

2

tad

3.Y

a.%x 4

Question Number : 131 Question Id : 1525369216 Display Question Number : Yes Is Question
Mandatory : No

The number of generators of a cyclic group of order 33 is

280 33 e Ko a‘é@@ N8 adXshroste Hogr
=

Options:

.
1w 20
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Question Number : 132 Question Id : 1525369217 Display Question Number : Yes Is Question
Mandatory : No

Number ofelements m the alternating group (4,.0) 18

S&esro (4s.0) &0 Suresre Sogy

Options:
36

1. %

180

3.9 =

720

Question Number : 133 Question Id : 1525369218 Display Question Number : Yes Is Question
Mandatory : No

Inthe group G ={1.2.3,4,5,6} under multiplication (.X;) modulo ., (5., 6)! =
7miore oo (X;) i Slhmiro G={1.2.3.4.5,6} & (5X,6)" =

Options:
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1, %
2:Y 4
. 3
3. %

9
4.% <

Question Number : 134 Question Id : 1525369219 Display Question Number : Yes Is Question

Mandatory : No

In R*,if U =L[(1.2.1).(0.1.2)] and 7" = L[(1.0.0),(0.10)] thenabasis for U/}

5

R & U=L|(12.1).(0.1.2)| %805 7 =L[(10.0).(0.L0)] wond

UNW 8 2.4 egebsn

Options:

& {(1.3.0)}
{(2.3.0)}

{(2.1.0)}

{(1.0.3)}
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Question Number : 135 Question Id : 1525369220 Display Question Number : Yes Is Question

Mandatory : No

If & = (1,-2.5)1s vector that can be expressed as s linear combmation ofthe vectors
e =(LL1).e; =(1.2.3) and e; =(2.-1,1) then ¢ 1
o =(1-2.5) % 3630 ¢ =(L11).e, =(1,2.3) 58k €; =(2,-1.1) S awaw

ROGPHOMT (TR BN o =
— O

Options:
- —6¢+3e +2e
. 6e,—-3e +2e

Question Number : 136 Question Id : 1525369221 Display Question Number : Yes Is Question

Mandatory : No

; % ig R
If f(x)=x forall x€[0.1] and P = 0'?5'-'_'1 then U(p. f) =
,, ; 113 ..
©6 x€[0.1] & f(x)=x" H8dkn P= 0.2} o8 U(p. )=
Options:
15
px 8

2. %
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15

3. ¥
15
64

4,

Question Number : 137 Question Id : 1525369222 Display Question Number : Yes Is Question

Mandatory : No

A 7 3 .
The rank of the transformation T : R® — R™ defined by T'(x.v) = (x+ y.x— . ¥)1s

T “5‘?'

v

L2

T:R° >R zow 088 T(x.y)=(x+y.x-y.y) & Q88

Options:
1

2

2.¥

Question Number : 138 Question Id : 1525369223 Display Question Number : Yes Is Question
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IfT:R’ - R’ is a linear transformation defined by
T(x,y.z)=(xcos6-ysind, xsin6+ ycosd, ), then the kernal of T is

T:R - R owwddd8s% T(x,y.2)=(xcosd - ysin, xsin+ ycosf,z) re

%0080 T &% 28d
o by A

v 9]
Options:

0}
1. ¢

i
2 "

2

)

4, %

Question Number : 139 Question Id : 1525369224 Display Question Number : Yes Is Question

Mandatory : No
If T, and Tpare linear operations on R* and Ty (x, y) = (v.~x), Ty(x.y) =(».0) then
(LL-T L) (x.y)=
T, 580 heo R* 3 awo 9888w oo T(x.3) = (1.-x). L(x.y)=(1.0) re
a0l et ([T, -T, ) (v.) =

Options:
(x.v)
1. %
(X—3)
2.9
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(—x.v)

n (—=x.—y)

Question Number : 140 Question Id : 1525369225 Display Question Number : Yes Is Question
Mandatory : No
=, &

lim —
n—x r=1 F o

Options:
T
1. % 4
T
2
2, ®
T
3.+
4
4. %

Question Number : 141 Question Id : 1525369226 Display Question Number : Yes Is Question
Mandatory : No
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[R—
2
o K2

Imi2 1
g 2 1
A 2 3
A=|2 1 2
2 2 .
Options:
21
1. %
2. % o
41
e
) |
4,

= A . then A>_44-=

wond A° —44=

Question Number : 142 Question Id : 1525369227 Display Question Number : Yes Is Question

Mandatory : No

2 -5

If 4=|-5 11

'8 37
2 -5
A=|-5 11
8 7

Options:

_then the trace of A 1s

@maﬁéﬁéo A cﬁ:oﬁ; o=l D0es?
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3 ¢ 9

, =19

Question Number : 143 Question Id : 1525369228 Display Question Number : Yes Is Question
Mandatory : No

Value of the determunant |—h 0 a

0 b -c
b 0 a 805655‘3;3 B0 E) Dens

c —a
Options:
1. ¢ ?

a

2=
3. % b
4, ® €
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Question Number : 144 Question Id : 1525369229 Display Question Number : Yes Is Question
Mandatory : No

=1 2 3
Rank of the matrix 2 A4 B 1S
-4 2 3
h 4 | SBE ¥ 58
Options:
1. %8 0
2.v 1
i
3.8 “©
3
4, ®

Question Number : 145 Question Id : 1525369230 Display Question Number : Yes Is Question
Mandatory : No

If £(x)=x"%".then £'(e?)=
=% Scm F17)

Options:

2

4e
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Question Number : 146 Question Id : 1525369231 Display Question Number : Yes Is Question
Mandatory : No

If x. y are m an mner product space. then |(_ X _1')[ <

Y, V" e CosZY $OToSTEENE® B0l oypid (.T.J‘)‘ =
Options:
. =
-l
2, ®
b
|51
4, ®

Question Number : 147 Question Id : 1525369232 Display Question Number : Yes Is Question
Mandatory : No
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The unit vector orthogonal to (4.2.3)in R is

R’ &% (4.2.3) % won=tdah chrdd 56

Options:

2. ¢
2 -5 7
3. % e T
~
[z‘l.iJ
33
4, %

Question Number : 148 Question Id : 1525369233 Display Question Number : Yes Is Question
Mandatory : No

If a=(0.-2.3). ﬁ:[;lz 1; are 1 an mner product space R’. then (a.f)=

!

a=(0.-23), ﬁz[;il} Oy @oégi% seTmododin R & ol CH)NAS
(@.p)=_____

Options:

1. % ¢
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2. %
3. % 2
VR

Question Number : 149 Question Id : 1525369234 Display Question Number : Yes Is Question
Mandatory : No

If o = (~1,0.1). f=(2.0.-2) are in an imer product space Vy(R) then |o+ =

a=(-10,1), #=(2.0.-2) e woste shosoeesn V(R) & &0l Xy ”a’ + ﬁ” =

o)

LB

Options:

(]

49

)

Question Number : 150 Question Id : 1525369235 Display Question Number : Yes Is Question
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Mandatory : No



p

If6f=m-.ﬁ¢0anda*.ﬂeV(R).rhena.a:
a:ﬁ.ﬁ#()é:aoﬁw a.BeV(R) eawd a.a =
Options :
1. %8 ﬁ
2. % ﬁz
T
2% 9
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